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INFORMATICS PRACTICES

CLASS XII

TIME: 3HRS










MM:70

Note:

a) All questions are compulsory.

b) Programming Language : Visual Basic

c) RDBMS : Oracle

SECTION A

a) What do you mean by Information System? Name 4 building blocks of Information System.(1+ ¼ x 4)

b) How Business Computing is different from Business Computing System? 



(1)

c) Draw an Entity-Relationship diagram to illustrate the case given below:
In a Factory, a Vendor can supply various items. Each vendor has got a vendor code, vendor name, vendor address and each item also has got an item code, item name, its price per unit. When a vendor supplies an item the transaction is recorded and the information about the transaction stored is date of supply, quantity supplied, Order number, Item code and Vendor code. Map the ER- diagram to corresponding tables. Also identify the key fields.






(3)

d) What do you mean by Data Warehouses and Why is high performance of database 

      and machines are needed for data warehouses?






(1+1)

e) Differentiate ER Modeling from Object Modeling Technique (Any 4)



(2)

Q2) 

a) Explain the difference between Resume and Resume Next Statement with diagram.
  
       (1½+ ½)

b) What is the purpose of Preserve Keyword specify with Redim statement in VB?

   
  (½) 

c) What is Focus? When do GotFocus and LostFocus events occur ?




(1+1)

d) What are parameters? What are actual parameters and formal parameters?



(1+1)  

e) How is a function similar to and different from subprocedure?





(1+1)

f) What is the role of Mid statement? How is it different from Mid( )?




(1½ )

Q3)

a) What is the difference between Before and After trigger? Support your answer with example.

(2)

b) Explain three different modes of Parameters specified with procedure created in Oracle.

(3)

c) What do you mean by parameterized CURSOR? Explain with example.




(2)

d) What is named block? How is different from anonymous block?





(2)

e) Consider the table Emp. Write cursor declaration that store employees not located (loc) in Chicago.
(1)

Section B

Q4)
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	Object Type
	ObjectName
	 Description

	Form
	FrmMcDonald
	The Main Form Object

	Text Box
	TxtTotCost
	To display the selected item and total Cost

	Check Box
	chkMcBrg

chkFshFrd

chkChkBrgr

chkVegBrgr

chkFrchFrs

chkNugg

chkHB

chkMcTikki
	

	Command Button
	CmdTotCost

CmdClear
	To calculate the total cost

To clear the entered Values


a) Write the commands to disable the text box and to set the Total Cost Command Button as default command button.






(1)

b) Write the code for cmdClear Command Button to clear all the checkboxes and TextBox.

(1)

c) Write the code for cmdTotCost to calculate the Total Cost for the selected dishes.


(3)

Q5) Answer the following questions:

(a) Find the errors from the following code segment and rewrite the corrected code underlining the correction made:






(2)

Private Sub Command1_Click( )

Dim a=1 as integer, b as integer

For b=1 upto 34565


a=a+b

Loop b

Display a

End Sub

b) Find the output of the following code segment:





(3 )

	(1)           Private Sub Command1_Click( )

Dim anum, bnum as integer

Dim k as integer

anum=24527

k=1

bnum=0

Do while k<=5

bnum= bnum * 10

k=anum mod 10

loop

print k, anum,bnum

End Sub


	(2) Private Sub command1_click( )

Dim N1, N2, Counter

    Counter = 1

    N1 = 0

    N2 = 1

    Do While Counter <= 4

        Print N1

        Print N2

        N1 = N1 + N2

        N2 = N2 + N1

        If N1 = N2 Then Exit Do

        Counter = Counter + 2

    Loop

End Sub


c) Rewrite the following code using using For…Next instead of Do….while



(2)

Private Series_Click( )

                Dim i As Integer, j As Integer, k As Integer

i = 1

j = 1

k = 1

Print i

Print j

Print k

C = i + j + k

Do While C <= 30

Print C

i = j

j = k

k = C

C = i + j + k

Loop

          End Sub

d) Write VB function funPalindrome to check weather the given string is Palindrome or not. Function 
     will return –1 if string is not palindrome and 0 if string is palindrome.



(2) 

e) Write VB code to insert a record in Emp(EmpNo,Ename,Job,HireDate,Sal,Comm,Deptno) Table of Oracle database, using ADO DB. Provide values for the fields on your own.



(2)

f) Write VB code to produce the following output






(2)

1

1   3

1   3   5

1   3   5   7

g) Write a VB procedure that takes an integer argument N and prints the sum of all odd numbers less 
    than the given number N.






(2)

Section C

Q6) Read the questions given below and answer accordingly

(a) Write the output produced by the following part of code in PL/SQL.


(1)

DECLARE

          A NUMBER(3);

         RESULT NUMBER(3):=10;

        BEGIN

              FOR I IN 11..20

              LOOP

                     IF  MOD(I,2)=0 THEN

                             RESULT:=RESULT+1;



                    ELSE

                            RESULT:=RESULT-1;

                   END IF;

                  DBMS_OUTPUT.PUT_LINE(TO_CHAR(RESULT+5));

          END LOOP;

    END;

/

b What will be the output of following code:





(2)

DECLARE

        A CHAR(3):='ONE';

        B REAL:=17.5;

BEGIN

      DBMS_OUTPUT.PUT_LINE('A='||A||',B='||B);

      DECLARE

           A INTEGER:=1;

           C REAL:=170.5;

      BEGIN

            DBMS_OUTPUT.PUT_LINE('A='||A||',B='||B||',C='||C);

     END;

END;

(c) Write PL/SQL procedure LeapYear that takes year as arguments and print the appropriate message. 
      Also write the steps to compile and executing the procedure.






(3)

(d)  Create a stored procedure named raise_pay that will increase an employee’s pay amount. 
     The parameters should be the employee’s id number and the percent increase to his salary.

(2)

Q7 a) Create a trigger that prints the change in salary every time salary of an employee is changed.
(2)

     b) Write PL/SQL script to determine whether the salary of employee 2745 in EMP table is less 
         than 17500 or not. If it is, give the employee an increment of 15%, otherwise displays a 
        message “No increment given”. 






(3)

    (c) Write SQL query that display employee name and total number of days lapsed between 
         HireDate and  Today






(1)

   (d) Write PL/SQL code to display the details of all employees having salary more than Rs. 2500. 
Also, for the managers having salary more than Rs . 2500/-, the salary increment is fixed as Rs. 500/- 
and for analysts having salary more than Rs. 2500/-, the salary increment is Rs. 750/-. Update the salaries of these employees. 






(4)

(e) Write PL/SQL script obtain an empno from user. If his/her salary is less than Rs. 900/- delete that record from table.






(2)
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